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KAAAIAOMOYA(BAZIAIKH — AXIA,
10| 1 AM265928 Ox1 6 6 21 39 85| 60 |300] O 0 0 630 | 273 | 0 |170| Oxi| 1.433,00] 1
TPAFANOZX ABGANAZIOX TEQF
1] 7 AB677978 Ox1 6 4 2 40 60 | 200] O 60 0 | 1108 0 0| O |Ox | 1.428,00f 2
KOYTMAZX FPHFOPHX XTYA
12| 34 AH 667109 Ox1 9 1 60 120 | O 0 30 0 | 1248 0 0| O |Ox | 1.398,00f 3
TIAKEPIAOY  AXMAZIA BAZl/
13| 40 Al 712138 Oxi 12 1 24 36 67| 180 [ O 0 30 0 720 | 252 [ 0 [134]| Oxi | 1.316,00 4
KAZIKTZIAOY AHMHTPA KQN3
14| 5 N402037 Oy 12 40 180 | O 0 0 0 | 1108 0 0| O |Ox| 1.288,000 5
MAMAOIKONOM MAZXAAHZ TEQF
15| 26 Mn421882 Ox 12 37 180 | O 0 0 0 | 1087 0 0| 0O |Ox| 1.267,00f 6
NTOXKOPHXZ AGANAZIOZ KQN3
16| 33 X 742042 Ox 60 0 0 0 0 0 | 1248 0 0| O |Ox| 1.248,00( 7
OAKKA AIKATEPINH AHMI
171 13 AZ 151304 Ox1 6 4 2 20 40 60 | 200] O 60 0 600 | 280 | 0 | O [Oxi| 1.200,00) 8
MMEKA MAPIA FEQF
18| 36 AM 902398 Ox1 12 33 180 | O 0 0 0 990 0 0| 0 |Ox| 1.170,00f 9
>AMNOYNTZH EAENH AXTE
19] 14 AN 214233 Ox1 12 4 24 180 | 200 O 0 0 720 0 0] 0 |Ox | 1.100,00]f 10
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AEIBAAIQTHE TPHIOPIOZ XTEQ
20| 10 AE 191428 Ox1 5 1 31 4 | 0 0 30 [ 0 | 930 0 | 0| 0 [Ox] 1.000,00] 11
MAATOIAOY  EAENH XAPA
21| 16 AM 909405 Ox1 11 25 160 [ 0 0 0 0 | 750 0 |of o0 [Ox]| 91000] 12
XATZHETAYPO'TEQPIIA  MHN,
22| 12 AK 306283 Oy 12 24 180 [ 0 0 0 0 | 720 0 | 0| o0 [Ox]| 90000 13
TZANAKTZIAOY XPIZTINA  ZQKF
23| 53 ® 177865 Oyl 2 27 0 0 0 | 60 | 0 | 810 0 |of o0 [Ox]| 87000/ 14
®OYNTOYKIAH KOZMAT  TEQF
24| 9 AK 309918 Ox1 6 4 1 19 60 [200| O 30 [ 0 | 570 0 |o| o|ox| 860,00 15
NOY®PIAAOY AOHNA rEQF
25| 2 AN198177 Ox1 12 5 60 180 [250| 0O 0 0 0 420 0| 0 [Oxi| 850,00 16
MOTZH STEPFIOYAANIKO
26| 42 K 448529 Oyxi 12 20 180 [ 0 0 0 0 | 600 0 |of o [ox]| 78000 17
NIKOAAIAOY  BAZIAIKH — AAZA
27| 43 AM 251150 Oy1 12 4 2 5 26 180 [200] 0 [ 60 | 0o | 150 | 182 | 0| 0 |Oxi| 772,00[ 18
FEQPTOYAH  NAYZIIKA  IAKQ
28| 28 MAH 193830yx1 12 2 60 180 [ 0 0 | 60| O 0 420 0| 0 |[Oxi| 660,000 19
KOPOZIAQY  AGANAZIA NIKO
29| 3 X763908 Oy 12 16 180 [ 0 0 0 0 | 480 0 |of| o0 [Ox]| 66000 20
©EOAOZOMOY/MAPIA OEO!
30| 47 P 209727 Oyxi 12 1 58 180 [ 0 0 30 [ 0 0 406 | 0 | 0 [Oxi| 616,00 21
KAIPAKAIAH ~ AEZMOINA NIKO
31| 23 AZ 173474 Ox1 12 60 180 [ 0 0 0 0 0 420 0| 0 [Oxi| 600,00 22
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>OYAH NAPAXKEYH FrEQF
32| 25 ® 190269 Oy 12 60 180 | O 0 0 0 0 420 0 | O |Oxi| 600,00 23
FABPIHAIAOY KYPIAKH MIXA
33| 30 Al 199316 Oxi 12 60 180 | O 0 0 0 0 420 0 | O |Oxi| 600,00 24
NEPZIAHX XPHXTOX AN/
34| 44 =510783 Oy 12 44 180 | O 0 0 0 0 308 0 [ O |Oxi| 488,000 25
>ABBIAOY EAIZABET NIKO
35| 45 AB 148331 Oxi 2 60 0 0 0 60 0 0 420 [ 0| O |Oxi| 480,00 26
NOAYMEPH EAENH MAZX
36| 38 AB 707341 Ox1 9 15 67 120 | O 0 0 0 0 105 [201] O | Oxi| 426,00 27
KAMMAZOIAOY MAKPINA  TEQF
37| 27 AZ 161083 Oxi 60 0 0 0 0 0 0 420 [ 0 | O | Oxi| 420,00 28
>TAMOYAHZ :XTAMOZ FEQF
38| 39 AN 420783 Oxi 13 0 0 0 0 0 390 0 0| 0 |Oxi| 390,00[ 29
XAPANAMIMIAO' EAENH AHMI
39| 11 AM 696707 Ox1 10 1 16 140 | O 0 30 0 0 112 [ 0| O |Oxi| 282,00 30
MOYZIKOYAHZ AMNOXTOAOZ XPH3
2(1) 15 AH 179414 Ox 24 0 0 0 0 0 0 168 [ 0 | O | Oxi 168,00| 31
42 H MpoioTtapévn Tou Mouaogiou BuZavTivou lMNoAimiopou
43 K.q.da.
44
45 EuayyeAia AyyéAkou
46 ApxaioAoyog pe A'Babud
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